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dqy vad% 20
Max. Marks: 20

fVIi.kh% (i) lHkh iz'uksa ds mÙkj nsus vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus fn, x, gSaA
Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) mÙkj iqfLrdk ds izFke i`"B ij Åij dh vksj viuk uke] vuqØekad] vè;;u dsUnz dk uke vkSj fo"k;
Li"V 'kCnksa esa fyf[k,A
Write your name, enrolment number, AI name and subject on the top of the first page of the

answer sheet.

1- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft;s % 2

Answer any one of the following questions in about 40-60 words:

(a) xqatu vius ?kj ij ,d dksfpax laLFkku pyk jgh gS ftlesa og IX ,oa X d{kk ds fon~;kfFkZ;ksa dks dksfpax ns
jgh gS ftlds fy, og uke ek=k dh iQhl ys jgh gSA ;g lkekftd mn~ns'; gS vFkok ekuoh;\ vius mÙkj
esa fn;s x;s mn~ns'; dk ,d mnkgj.k nhft,A (ikB 1 ns[ksa)

Gunjan is running a coaching institute, giving coaching at her home to the students of classes IX and X and

charges a nominal fees. Is it a social objective or human objective? Give one example of the answered

objective. (See lesson 1)

(b) ,d O;fDr us vius xk¡o ds ,d fdlku ls 2 fDoUVy pkoy [kjhns rFkk mUgsa vius utnhd ds 'kgj dh
eaMh esa csp fn;kA blls mls 1000 #i;s dk ykHk gqvkA D;k ;g O;olk; gS\ ;fn ugha\ rks dkj.k crkb,A
bls ge O;olk; fdl fLFkfr esa dg ldrs gSa\ (ikB 1 ns[ksa)

A person purchased two quintals of rice from a farmer of his village and sold it in the mandi of near by

town thereby  earning Rs. 1000 as profit. Is it business? If not give reason, when can it be called busi-

ness?

(See lesson 1)

2- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft;s % 2

Answer any one of the following questions in about 40-60 words:

(a) vkSn~;ksfxd bdkb;ksa ls cgqrk;kr esa dpjk vkSj xkn~ fudyrh gSaA ;g fdl fLFkfr esa ty iznw"k.k dk dkj.k
cu tkrs gSa\ D;k ;gh ty iznw"k.k dk ,dek=k dkj.k gSa ;fn ugha rks ,d vkSj dkj.k nhft,A

Industrial Units generates released wastes and affluent. When does these wastes from industrial units,

become a cause of water pollution? Is this the only cause of water pollution? If no give one more cause

of water pollution.
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(b) vki xUuk mxkrs gSa vkSj mls ,d fey dks csp nsrs gSaA og fey fdl oLrq dk mRiknu djsxh\ bl mn~;ksx
dks dkSu lk mn~;ksx dgsaxs\ (ikB 2 ns[ksa)

You are growing sugar cane which you sell to a mill what will this mill product? What type of industries

will it be called? (See lesson 2)

3- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

(a) vki ,dy LokfeRo ds :i esa O;olk; pyk jgs gSaA vki dSls bls O;olkf;d laxBu dk loZJs"B Lo:i
ekurs gSa\ dksbZ nks dkj.k nhft,A (ikB 3 ns[ksa)

You are running a business as sole proprietor. How do you consider this as the best form of business

organisation? Give any two reasons. (See lesson 3)

(b) ikjLifjd le>kSrs ij vk/kfjr lk>snkjh ds vkUrfjd <k¡ps ds laxBu dh ykspiw.kZr dk ykHk ysrs gq, Hkh ,d
lk>snkjh iQeZ ds lk>snkj dSls vius vlhfer nkf;Ro ls cp ldrs gSa\ ,sls oSdfYid laxBu dh lajpuk dSls
dh tk,xh\ (ikB 3 ns[ksa)

How can the partners for firm do away with their unlimited liability and at the same trip enjoying the

flexibility of organising their internal structure as a partnership based on a mutually arrived agreement?

How can such an alternative organisation be formed? (See lesson 3)

4- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100 to 150 words.

(a) ,d xk¡o ds fdlku tks lfCt;k¡ o iQy mxkrs gSa vius mRiknksa dks cktkj esa O;fDrxr :i esa cspus esa dfBukbZ
dk lkeuk dj jgs gSaA ,d O;fDr us mUgsa lykg nh fd mUgsa vius mRiknksa dh fcØh ds fy, ,d tqV gks
tkuk pkfg,A laxBu dk dkSu&lk izdkj muds bl mn~ns'; dh iwfrZ djsxk\ bl izdkj ds laxBu ds dksbZ rhu
ykHk crkb,A (ikB 4 ns[ksa)

The formers of a village growing vegitables and fruits. It difficult to sell their products individually in the

market. Some one suggested them to unite together to sell their products which form of organisation will

serve this purpose? State any three advantages of such type of organisation. (See lesson 4)

(b) O;olkf;;ksa dks bl rF; dks Lohdkjuk pkfg, fd lekt ds izfr muds dqN mÙkj nkf;Ro gSaA ;fn vki ,d
O;olk;h gSa rks vki dkSu&dkSu ls lkekftd mÙkjnkf;Roksa dk fuokZg djsaxs\ fdUgha pkj ,sls mÙkj nkf;Roksa dk
mYys[k dhft,A (ikB 4 ns[ksa)

Businessman are required to accept the fact that they have responsibility towards the society. If you are

a businessman what social responsibilities which you be discharging? State any such four responsibilities.

(See lesson 4)
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5- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft;s % 4

Answer any one of the following questions in about 100-150 words:

(a) vki bl rF; ls HkyhHkkafr ifjfpr gSa fd xaxk unh ns'k dh lcls iznwf"kr ufn;ksa esa ls ,d gSA ,sls fdUgha
pkj rjhdksa dk mYys[k dhft, ftUgsa vki bls iznw"k.k eqDr djus ds fy, lq>k;saxsA (ikB 1 ns[ksa)

You are aware of the fact that the river 'Ganga' is our of the most pollutted rivers of our country state any

four ways that you would suggest to make it pollution free. (See lesson 1)

(b) pkj fe=kksa us feydj ,d oSclkbV cukbZ vkSj ml ij rS;kj oL=kksa dh ,d Jà[kyk fcØh ds fy, izlkfjr dj
nhA mUgsa vk'p;Z gqvk fd mUgsa cM+h la[;k esa vkns'k izkIr gks x;s rFkk 'kh?kz gh og Hkkjh O;olk; djus yxsA
bZ&iqQVdj O;kikj esa mudh liQyrk ds dkj.k crkb,A (ikB 2 ns[ksa)

Four friends made a website and put-up the range of readymade garments on for sale. They were

surprised they get received large number of orders and soon had roaring business. Give the reasons of

their success in E-retailing. (See lesson 2)

6- uhps nh xbZ pkj ifj;kstukvksa dh lwph esa ls dksbZ ,d ifj;kstuk rS;kj dhft,A 6

Prepare any one project out of the four given below :

(a) Hkkjr ljdkj dh ^Hkkjr esa fuekZ.k* dh uhfr ds mn~ns';ksa dh izkfIr rHkh gks ldrh gS tc cgq&jk"Vªh; daifu;k¡
gekjs ns'k esa m|ksx LFkkfir djsa u fd vius fufeZr mRiknksa dks ;gk¡ cspsaA ;fn cgqjk"Vªh; dEifu;k¡ eku tkrh
gSa rks gesa izkIr gksus okys fofHkUu ykHkksa dh lwph cukb,A (ikB 4 ns[ksa)

The objective of government of Indias 'make in India' policy can be achieved if the multinational compa-

nies set up industries in our country instead of selling their finished products in our country. List various

advantages that we will get, if MNC's agree text.. (See lesson 1)

(b) vkidks vius O;olk; dks ftls vki ,d lk>snkjh ds :i esa pyk jgs Fks] c<+kus ds i;kZIr volj fey jgs
gSaA fdlh us vkidks lq>ko fn;k fd vki vc la;qDr iw¡th dEiuh dh lajpuk dj ysaA ,slk djus ds vkidks
gksus okys fdUgha rhu ykHkksa rFkk vkids }kjk lkeuk dh tkusokyh fdUgha rhu dfBukb;ksa dk mYys[k dhft,A

(ikB 2 ns[ksa)

You find vast opportunities in expanding your business. Which you have been running as a partnership

firm. Some body suggested you to form a joint stock company. State any three advantages that you will

have now and three difficulties that you will face in doing so. (See lesson 2)


